&7/ Tool Belt ,

Scallop Mason Jar Planter Box Centerpiece

Materials
e 1-1"x6"x6"or 8 board e sandpaper
e 1-1"x4"x6"or 8 board e paint
e 1-3/4"x2'x4 plywood e wood filler
e 11/4" pocket hole screws e wood candlestick (optional)
e 11/4" brad nails o glass knob (optional)
e wood glue
Cut List

e 4-3/4"x51/2"x101/2" with 45 deg bevels (angle) on each end towards each other
e 2-3/4"x31/2"x87/8"
e 1-3/4"x9"x9" plywood

Set the miter saw head at a 45 deg bevel (head tilt), cut 4 pieces of the 1x6 that are 10 1/2" long with
45 deg on each end.

Trace the scallops onto the 10 1/2" pieces. Use a scroll saw, band saw or jig saw to cut out the
scallops.


http://www.hobbylobby.com/Crafts-Hobbies/Wood-Crafting/Unfinished-Wood/1-7-8-Birch-Candlesticks/p/23053
http://www.dlawlesshardware.com/green-glass-knob.html

Cut out the 9" x 9" bottom piece from plywood (or you can use a 9" piece of 1x6 and 9" piece of
1x4). Drill pocket holes for 3/4" material in the bottom about 2/edge. (Alternatively if you don't have
a pocket hole jig, you can screw from the outer side into the bottom.)

Apply wood glue along the bottom edge and use 1 1/4" pocket hole screws to attach the sides flush to
the bottom. Attach other sides, applying glue along the miter joint. Add 11/4" brad nails to the miter
edges to keep them tight.

Use wood glue and 1 1/4" brad Use wood glue and 1 1/4" brad
nails to attach the sides together nals to attach the sides together

Attach sides to base

(alt method: attach with
screws from the outside)

Attach sides with wood glue
and 1 1/4" pocket hole screws



#7/Tool Belt

The divider is removeable, but can be made permanent by screwing/nailing it into place.

Cut 2 pieces of 1x4 that are about 8 7/8" long. Make sure they'll easily slide into the scallop box
center. Measure and mark the locations for the notches. I used the band saw (or scroll saw or jig saw)
to cut out the notch; you can clean up the edges with a chisel if needed.

\ 4 1/16" 3/4" 4 1/16"

3/4"

8 7/8"

The two dividers will slide together. Apply a little wood glue to the notch and glue the two dividers
together.




ool Belt




